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Tén: Ngay thang: Piém:
X = 17x* + 92x— 160 X+ 1% +20x + 18
45x° + 256x° — 772x + 480 63x° — 299x” — 144x + 320
24x° — 37x% — 200x — 144 X — 1% +20x— 18
4%% + 16x 2% — 4y
4% — 16x 5¢° + 25x
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Tinh nhan tir ciia da thirc khéi

Tén:

X — 17x%% + 92x — 160
x—4dx—5x—98)

45x> + 256x% — 772x + 480
(5x — 6)(x + 8)(9x — 10)

24x° — 37x* — 200x — 144
(8x + 9)(x — 4)(3x + 4)

4% + 16x
4x(x + 4)

4% — 16x
4x(x — 4)

Ngay thang:

¥+ 1122 +20x + 18
(x+ 92 + 2x + 2)

63x° — 299x° — 144x + 320
(9x — 8)(x — 5)(7x + 8)

X — 11x% +20x— 18
(x— 9)(? — 2x+ 2)

2% — 4x
2x(x — 2)

5x% + 25x
Sx(x+5)

www.snowmath.com

Piém:



https://www.snowmath.com

